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FINAL ANSWER KEY (Revised) :  General Studies 

Series-A Series-B Series-C Series-D Remarks 
Question 

No. 
Answer Question 

No. 
Answer Question 

No. 
Answer Question 

No. 
Answer  

1 B 16 C 36 D 56 A  

2 A 17 B 37 C 57 D  

3 C 18 D 38 A 58 B  

4 Deleted 19 Deleted 39 Deleted 59 Deleted  

5 B 20 C 40 D 60 A  

6 D 21 A 41 B 61 C  

7 C 22 D 42 A 62 B  

8 D 23 A 43 B 63 C  

9 C 24 D 44 A 64 B  

10 B 25 C 45 D 65 A  

11 A 26 B 46 C 66 D  

12 A 27 B 47 C 67 D  

13 D 28 A 48 B 68 C  

14 A 29 B 49 C 69 D  

15 D 30 A 50 B 70 C  

16 B 31 C 51 A 71 B  

17 B 32 C 52 D 72 A  

18 A 33 B 53 C 73 D  

19 B 34 C 54 D 74 A  

20 C 35 D 55 A 75 B  

21 A 36 B 56 C 1 D  

22 B 37 C 57 D 2 A  

23 Deleted 38 Deleted 58 Deleted 3 Deleted  No change. 
The main buffer system of 
the human blood is 
bicarbonate buffer system in 
which carbonic acid is 
converted into bicarbonate 
ion and hydrogen atom. But, 
here, in place of bicarbonate 

ion  3HCO
, only 

bicarbonate  3HCO  has 

been mentioned in option 'A' 
and all other options are also 
incorrect.  

 Out of three buffer systems 
i.e. Bicarbonate Buffer 
system, the phosphate buffer 
system and the protein 
buffer system, the main 
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buffering system of human 
blood is the Bicarbonate 
buffer system. The 
bicarbonate buffer system is 
represented as- 

CO2 + H2O H2CO3 

H
+
 + HCO3 

-
 

 Since, the answer is 
in the form of equation. In 
the option 'A' there should 
have been a negative charge 

on 3Hco . But it is lacking. 

Hence option 'A' is incorrect. 
Other options are incorrect 
options. Therefore the 
question should be deleted. 

24 C 39 D 59 A 4 B  

25 D 40 A 60 B 5 C  

26 B 41 C 61 A 6 B  

27 C 42 D 62 A 7 B  

28 C 43 A 63 B 8 C  

29 C 44 D 64 A 9 B  

30 A 45 B 65 C 10 D  

31 D 46 A 66 B 11 C  

32 D 47 A 67 B 12 C  

33 B 48 C 68 D 13 A  

34 B 49 C 69 D 14 A  

35 D 50 A 70 B 15 C  

36 B 51 C 71 D 16 A  

37 C 52 D 72 A 17 B  

38 D 53 A 73 B 18 C  

39 C 54 D 74 A 19 B  

40 C 55 D 75 A 20 B  

41 A 56 B 1 C 21 A  

42 A 57 B 2 C 22 A  

43 C 58 D 3 A 23 B  

44 B 59 C 4 D 24 A  

45 A 60 B 5 C 25 D  

46 A 61 B 6 C 26 D  

47 B 62 C 7 D 27 A  

48 C 63 D 8 A 28 B  

49 C 64 A 9 B 29 C  

50 B 65 C 10 D 30 A  

51 C 66 D 11 A 31 B  

52 A 67 B 12 C 32 A  

53 B 68 C 13 A 33 B  
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54 C 69 D 14 A 34 B  

55 D 70 A 15 B 35 C  

56 C 71 D 16 A 36 B  

57 D 72 A 17 B 37 C  

58 B 73 C 18 D 38 A  

59 D 74 A 19 B 39 C  

60 A 75 B 20 C 40 D  

61 B 1 C 21 D 41 A  

62 B 2 C 22 D 42 A  

63 A 3 B 23 C 43 D  

64 B 4 C 24 D 44 A  

65 D 5 A 25 B 45 C  

66 A 6 B 26 C 46 D  

67 B 7 C 27 D 47 A  

68 A 8 B 28 C 48 D  

69 C 9 D 29 A 49 B  

70 B 10 C 30 D 50 A  

71 C 11 D 31 A 51 B  

72 B 12 C 32 D 52 A  

73 C 13 D 33 A 53 B  

74 B 14 C 34 D 54 A  

75 B 15 C 35 D 55 A  

76 B 93 C 101 D 118 A  

77 D 94 A 102 B 119 C  

78 D 95 A 103 B 120 C  

79 A 96 B 104 C 121 D  

80 D 97 A 105 B 122 C  

81 A 98 B 106 C 123 D  

82 B 99 C 107 D 124 A  

83 A 100 B 108 C 125 D  

84 A 101 B 109 C 76 A  

85 D 102 A 110 B 77 C  
86 A 103 B 111 C 78 A  

87 C 104 D 112 A 79 B  

88 C 105 D 113 A 80 B  

89 C 106 D 114 A 81 B  

90 A 107 B 115 C 82 D  

91 C 108 D 116 A 83 B  

92 A 109 B 117 C 84 D  

93 B 110 C 118 D 85 A  

94 D 111 A 119 B 86 C  

95 B 112 C 120 A 87 B  Previous answer was 
option 'A'. But correct 
answer is option 'B'. 

Bloomberg Billionaire index 
published on its site dated 30th 
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August, 2022 says. 
1. GautamAdani  $137.4 

Billion (Rank 3rd) 
2. MukeshAmbani  $91.9 

Billion (Rank 11th) 
     It further states that 
GautamAdani is first Asian to 
reach the 3rd rank and he was 
the richest man till the date of 
exam.  Hence option 'B' (in 
Series 'A') is correct answer. 

96 C 113 D 121 A 88 B  

97 D 114 A 122 B 89 C  

98 B 115 C 123 D 90 A  

99 D 116 A 124 B 91 C  

100 A 117 B 125 C 92 D  

101 C 118 D 76 A 93 B  

102 C 119 A 77 B 94 C  

103 D 120 A 78 B 95 C  

104 D 121 A 79 B 96 C  

105 B 122 C 80 A 97 B  

106 D 123 A 81 B 98 C  

107 B 124 C 82 D 99 A  

108 A 125 B 83 C 100 D  

109 D 76 A 84 B 101 C  

110 C 77 D 85 A 102 B  

111 A 78 B 86 C 103 D  

112 C 79 D 87 A 104 B  

113 C 80 D 88 A 105 B  

114 B 81 C 89 A 106 B  

115 D 82 A 90 B 107 C  

116 C 83 A 91 B 108 C  

117 A 84 B 92 C 109 D  

118 D 85 A 93 B 110 C  

119 A 86 B 94 C 111 D  

120 C 87 A 95 B 112 C  

121 D 88 A 96 B 113 C  

122 C 89 D 97 A 114 B  

123 B 90 C 98 D 115 A  

124 B 91 C 99 A 116 B  

125 D 92 A 100 B 117 C  
 


